
3. Fill in the blanks with kg or g.
(a) A loaf of bread has a mass of about 1
(b) A dollar bill has a mass of about 1
(c) A bag of peanuts has a mass of about 100
(d) A horse has a mass of about 500
(e) A baby has a mass of about 6

4. Fill in the blanks.

(a) The bottle of milk has a mass of g.
(b) Two tomatoes have a mass of g.

(c) One tomato has a mass of g.
(d) The is heavier than the bottle of milk.
(e) The bottle of milk is g heavier than the

t o m a t o e s .

Unit 6: Mass and Weight


